[ Efficiency vs vertpos |

0.2
20.18
4
20.16
O -
§0.14f
[
£0.12
0.3
0.08
0.06F
0.04F
0.02F

—_

..................................

..................................

..................................

..................................

10 0
TP vertr (cr%)

2

oA TITRET

3

—— POt 00T RO0QO0000" Qevat

— B MWOOO%:EOOOOOOOO%:Gg g_m EI | gg tch
—— D M:V8881:R888888881:go al—m F! —batch32
—— DOM~V0001~R000000001—Global—_mkFit_batch64

10 20
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.0

> E :
e R s PSRN SITITE
B008E -t b SRR N S
D.007F -+ rvbeenrednees S TP ST
> F N
D 006+ rbeeeerdneeeeas T SEEt
o F :
D.005F -+ heeeeredeeen T SECRIEE SR
(0] F N H
0.004f++++cheseeesdnenenes o e
0003+ eeeninenenen: PSRN SITIEE
0.002 -++++cheseednenenes SRR NP SRR
0.001E -+ wheeeedrenenes R IRRRt ST
o QEmrhmees BRI e
5 b i
d : : :
11 ST R S SPT  S
=46 =20 0

20 40 6
Sim. PV z (cm)

30

0




	Contents
	Page 1


